Accounting for Notes

Notes are negotiable agreements between two parties to a loan.  The maker (debtor) borrows money from the payee (creditor) and agrees to repay that amount, plus interest, at the maturity date of the note.  Notes may be made for any specified amount of time, thus may be either short-term or long-term, and for any amount agreed upon by the parties involved.  The amount of the note is typically specified, or sum certain, and not subject to change during the life of the loan.  

Notes may be interest bearing or non-interest bearing and may require periodic payments or a single payment upon the maturity date.  An interest bearing note is issued at face value and requires the maker to pay the face value of the note plus interest at maturity.  A non-interest bearing note is issued at a discount to its face value and requires the maker to pay the face value of the note at maturity.  Notes can be issued that require the maker to pay regular payments on the loan, such as car payments and house payments.  The most common type of note in the corporate world is the note that requires a single payment of interest plus principle at maturity.
The date the note is made is characterized by the lender exchanging cash to the maker in exchange for the note.  To the payee (lender) the note is a note receivable and to the maker the note is a note payable.  Our first example involves the Maker Co. borrowing $100,000 from the Payee Co. on January 1, 2004 for six months at 12% interest.
The journal entry for the date the note is made is as follows:

	Date
	Accounts
	Debit
	Credit

	1/01
	Cash
	$100,000
	

	
	     Notes Payable
	
	$100,000

	
	
	
	

	
	
	
	

	
	
	
	


Payee Co.

	Date
	Accounts
	Debit
	Credit

	1/01
	Notes Receivable
	$100,000
	

	
	     Cash
	
	$100,000

	
	
	
	

	
	
	
	

	
	
	
	


The maker must repay both the principle and the accrued interest on the maturity date.  The interest is calculated as follows:

Interest = (Principle)(rate)(time)

Interest = (100,000)(.12)(6/12)

Interest = $6,000

The entries for the maturity date are as follows:

Maker Co.

	Date
	Accounts
	Debit
	Credit

	7/01
	Interest Expense
	$6,000
	

	
	Notes Payable
	100,000
	

	
	     Cash
	
	$106,000

	
	     
	
	

	
	
	
	


Payee Co.

	Date
	Accounts
	Debit
	Credit

	7/01
	Cash
	$106,000
	

	
	     Interest Revenue
	
	$6,000

	
	     Notes receivable
	
	100,000

	
	     
	
	

	
	
	
	


In our second example, the Maker Co. will be borrowing $100,000 from the Payee Co. for one year, at 12%, on May1, 2004.  
The journal entry for the date the note is made is as follows:



Maker Co.

	Date
	Accounts
	Debit
	Credit

	5/01
	Cash
	$100,000
	

	
	     Notes Payable
	
	$100,000

	
	
	
	

	
	
	
	

	
	
	
	


Payee Co.

	Date
	Accounts
	Debit
	Credit

	5/01
	Notes Receivable
	$100,000
	

	
	     Cash
	
	$100,000

	
	
	
	

	
	
	
	

	
	
	
	


Since this is a one-year note, both parties must prepare adjusting entries at year’s end for the accrued interest.  Please remember that the interest will be paid on the maturity date, along with the principle.  Therefore, the adjusting entry will not involve cash, nor will it involve either Notes Receivable or Notes Payable.  The maker will recognize, in accordance with the Matching Principle, his interest expense and the payee will recognize, in accordance with Revenue Recognition, his interest revenue.  In order to make the following entry, we must calculate the interest that has accrued from 5/01 through 12/31; this represents 8/12 of one year:
Interest = (Principle)(rate)(time)

Interest = (100,000)(.12)(8/12)

Interest = $8,000

The adjusting entries for year-end are as follows:

Maker Co.

	Date
	Accounts
	Debit
	Credit

	12/31
	Interest Expense
	$8,000
	

	
	     Interest Payable
	
	$8,000

	
	
	
	

	
	
	
	

	
	
	
	


Payee Co.

	Date
	Accounts
	Debit
	Credit

	12/31
	Interest Receivable
	$8,000
	

	
	     Interest Revenue
	
	$8,000

	
	
	
	

	
	
	
	

	
	
	
	


At maturity cash will be exchanged and both parties will remove their receivables/payables that relate to the note and the accrued interest.  The maker will also have to recognize the interest expense for the period 1/01 through 4/30 and the payee will recognize the interest earned during this period.  The interest is calculated as follows:
Interest = (Principle)(rate)(time)

Interest = (100,000)(.12)(4/12)

Interest = $4,000

The entries for the maturity date are as follows:

Maker Co.

	Date
	Accounts
	Debit
	Credit

	4/30
	Interest Expense
	$4,000
	

	
	Interest Payable
	8,000
	

	
	Notes Payable
	100,000
	

	
	     Cash
	
	$112,000

	
	
	
	


Payee Co.

	Date
	Accounts
	Debit
	Credit

	4/30
	Cash
	$112,000
	

	
	     Interest Revenue
	
	$4,000

	
	     Interest Receivable
	
	8,000

	
	     Notes receivable
	
	100,000

	
	
	
	


Accounting for non-interest bearing notes

Non-interest bearing notes are notes that are repaid at the face amount and the maker receives an amount that is less than the face amount on the date the note is made.  The question is often:  What interest rate am I paying?  It’s not obvious since the note doesn’t have a stated rate of interest.  Our example will again involve the Maker Co. and the Payee Co.  In this example the Maker Co. will be making a note that provides for the repayment of $100,000 at the maturity of the one-year note.  However, Maker will not be receiving $100,000 on the date the note is made.  He will be receiving only $90,000.  At first glance it must seem as though Maker’s implied rate of interest is 10% since the total interest to be paid ($10,000) is 10% of the note’s face value of $100,000.  Not so fast!  The principle amount is actually $90,000, not $100,000!  Let’s do some math:

If i = Prt, then r = 
[image: image1.wmf]i
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.  So, the actual rate must be 
[image: image2.wmf]10,000

(90,000)(1)

 or 11.11%.
The first example was relatively easy since the note was for one year (t was 1).  Suppose the same note had been for nine months (t will be 9/12).  The calculation would be as follows:

If i = Prt, then r = 
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.  So, the actual rate must be 
[image: image4.wmf]10,000

(90,000)(9/12)

 or 14.81%.

Let’s do another example.  Maker receives $20,000 and must repay $24,000 six months from now.  What is the implied interest rate in this agreement?

r = 
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.  So, the actual rate must be 
[image: image6.wmf]4,000

(24,000)(6/12)

 or 33.33%.
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